AR5

= R O A—RFGME (kcpm) k=
RN AR BRgdt | Bge | EEE
F1EIFREAER (H23.11.23)
av9)—k = K% (14MPa) 19.0 6.80 64.2%
T AI7ILE = E K% (7.5MPa) 20.0 12.50 37.5%
B |7RAI7ILE = K% (14MPa) 17.0 75 55.9%
EIEI5 |72 O7ILk BRY VRIS X (14MPa) 17.0 1.50 91.2%
FAI7ILE ST SVMMER. BEKEE (7.5MPa) 20.0 6.50 67.5%
FAI7ILE I SVMER . & EKESR (14MPa) 19.0 5.50 71.1%
FE2EPREHER (H23.12.1)
FAI7ILE = E K% (15MPa) 15.2 452 70.3%
B [7RI7ILE " 18.0 5.11 71.6%
BIE5 (7 XD7ILk Ry vy—. BEKZEE (15MPa) 21.6 5.1 76.3%
FAI7ILE R, ER) v v— 19.5 450 76.9%
g nh 3 XY (FETR) 2.9 3.25 -12.1%
g £ n 4+ REFE (cm) BEHTR 2.9 1.57 45.9%
2t n 4+ REFE(2cm) BHEMTHK 2.9 0.49 83.1%
S |- 1iE n 4+ RITFEU@em) NOI—FATR 2.9 0.39 86.6%
-t ZMY (N —FATR) 2.7 3.30 -22.2%
g bt n 4+ RREFEUcm) N\oI—FA4ITR 2.7 2.35 13.0%
-t n 4+ RIEFEFQ2cm) NT—FA4TR 2.7 1.82 32.6%
FER (AT A) JO7ICkBELERE 10.8 6.97 357% |HBrTotERE (AEDFED)
o HEXL (KB A A ) ﬁn?l:;é%ﬁﬁﬁﬁﬁf\ 6.55 3.37 485% |BrxotRE(QADFH)
FEF (I A) BEKEHE (15MPa) . TATICKEELERE 4.30 3.30 23.3% |#BTDihFTM
3.3 1.9 43.1% |BEzEQCARDOFEH)
a 7KLY 6.0 3.9 36.0%
a = K% (15MPa) 6.7 5.3 20.7%
Loy CeY (EER) IKFEL 5.00 3.51 29.8%
CeY (EEB) = E K% (15MPa) 4.05 4.44 -9.6%
CoY (TFER) 7KLY 1.80 1.59 11.7%
CoY (TER) = E K% (15MPa) 2.75 1.8 33.5%
Z D |EFE IS (JEEHLE) | TSR TA4vIIybUem) BRE -G EBREL 4.30 1.27 70.5%
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